Factorise a quadratic
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Factorise a quadratic

1. Fill in the blanks for each 2. Factorise each expression
multiplication grid a) x2+5x + 6 d) x2+3x—10
a) X b) x2+ 6x + 8 e)x2—-3x—10
2 2 _
x [ | 2 C)x*+9x + 8 f)x?—7x+12
il B 3. Which of the following are
x°+8x+15=(x + )(x + ) equivalent to x2 — 7x — 182
b)
X (x—2)x+9) || (x=-2)(x-9)
x? | 3x
12
o (x=9)(x+2) || (x+2)(x—9)
x°+7x+12=(x + )(x + )
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Answers
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Factorise a quadratic

1. Fill in the blanks for each
multiplication grid
a)

x | 3
X | x2| 3x
5 5x| 15

x°+8x+15=(x+|3|)(x+| 5

b)
x |4
X x2 3x
3 || 4x]| 12

X+ T7x+12=(x+ |4 |)x+]|3
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Factorise a quadratic

2. Factorise each expression

a) x2+5x+ 6
b) x2+ 6x + 8
c) x2+9x + 8
d) x2+3x—10
e) x2 —3x — 10
f) x2 — 7x + 12

(x + 2)(x + 3)

3. Which of the following are

equivalent to x2 —

7x — 187

(x —2)(x + 9)

(x =2)(x=9)
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